Stoichiometry Review WS #2 Name: w: 7 Z’—‘ / CoAtr

Calculate the number of grams of bolded product. =
Na A% Mo O

1. 105 grams of sodium reacts with 105 grams of water to produce sodium hydroxide and

hydrogen gas. 2 NMa 4 :g/:/z O = ZNa G //L/z
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2. 105 grams of copper and 105 grams of sulfur react to produce copper (I) sulfide. e ot (1
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3. Boron trichloride is the product of the reaction between 105 grams of boron and 105
grams of chlorine gas.
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4. Inarocket, 105 grams of hydrazine (NzH;) and 105 grams of dinitrogen tetroxide are mixed.
They react vigorously to form nitrogen gas and water. The energy produced from this
reaction is great enough to lift the rocket into space.
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5. Inadouble displacement reaction, silver nitrate and copper (II) chloride combine to form
silver chloride and copper (II) nitrate.

6. Liquid octane (CsHig) combusts to form carbon dioxide and water.
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